
(1)

(1 + cos θ + i sin θ)
2
= (1 + cos θ)

2 − sin2 θ + 2 sin θ (1 + cos θ) i

= 2 cos θ (1 + cos θ) + 2 sin θ (1 + cos θ) i

よって，x = f (θ) = 2 cos (1 + cos θ)，y = g (θ) = 2 sin θ (1 + cos θ) である。

したがって，f ′ (θ) = −2 sin θ (2 cos θ + 1)，g′ (θ) = 2 (2 cos θ − 1) (1 + cos θ)となるから，

f (θ)，g (θ)の増減表は以下のようになる。

θ 0 π
3

2
3
π π

f ′(θ) − − +

f(θ) 4 ↘ 3
2

↘ − 1
2

↗ 0

θ 0 π
3

2
3
π π

g′(θ) + − −

g(θ) 0 ↗ 3
√
3

2
↘

√
3
2

↘ 0

また，

lim
θ→+0

dy
dx

= lim
θ→+0

−(2 cos θ − 1)(1 + cos θ)

2 cos θ + 1
· 1
sin θ

= −∞

lim
θ→π−0

dy
dx

= lim
θ→π−0

−(2 cos θ − 1)(1 + cos θ)

sin θ(2 cos θ + 1)

= − lim
θ→π−0

2 cos θ − 1
2 cos θ + 1

· sin θ
1− cos θ

= 0

となるから，C の概形は図のようになる。
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(2) C のうち，0 ≦ θ ≦ π
3
の部分を x1 = x1(y)，

π
3

≦ θ ≦ πの部分を x2 = x2(y)とすると，

S =

∫ 3
√
3

2

0

{x1(y)− x2(y)} dy

である。

∫ 3
√
3

2

0

x1(y) dy =

∫ π
3

0

2 cos θ(1 + cos θ) · 2(2 cos θ − 1)(1 + cos θ) dθ

=

∫ π
3

0

4 cos θ(1 + cos θ)(2cosθ − 1)(1 + cos θ) dθ

−
∫ 3

√
3

2

0

x2(y) dy = −
∫ π

3

π

2 cos θ(1 + cos θ) · 2(2 cos θ − 1)(1 + cos θ) dθ

=

∫ π

π
3

4 cos θ(1 + cosθ)(2 cos θ − 1)(1 + cos θ) dθ

よって，

S =

∫ π

0

4 cos θ(1 + cos θ)(2 cos θ − 1)(1 + cos θ) dθ

=

∫ π

0

(8 cos4 θ + 12 cos3 θ − 4 cos θ) dθ

ここで，
∫ π

0

sin3 θ dθ = 0，
∫ π

0

sin θ dθ = 0であるので，S =

∫ π

0

8 cos4 θ dθとなる。

S =

∫ π

0

8 cos4 θ dθ

=

∫ π

0

8
(
1 + cos 2θ

2

)2

dθ

=

∫ π

0

(2 + 4 cos 2θ + 1 + cos 4θ) dθ

=

[
3θ + 2 sin 2θ + 1

4
sin 4θ

]π
0

= 3π


